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1 month shelf life b % = 416.66 gd demanded over shdf life \ q ® 416.66

let ¢, =EOQwith better fedility and h = 6 (doubled)

_ /w = 365.15<833.3gd demand over 2 month shelf life.

Old gorage fadility:

TC(416.66) = (12)(80) + (3)(1/2)(416.66) = 1585

Better sorage facility:

TC(365.15) = +/2KDh = ./(2)(80)(5000)(6) = 2191

Therefore, order 1 month supply = 416.66, and store in old facility.

2...

let g = amount planned for monthly expenses (i.e., not invested)
100,000 — g = amount invested

monthly interest = (24/12)% = 2%

d~ Normd: mr 6000/mo. s= 2000/mo.



lg -60000_ ¢, _.04

expenses met from amount planned

cost (d,g) =-.02 (100,000 —q)
=.02g — 2000

\ ¢=.02

d — q must be withdrawn from investment to cover expenses.
cost (d,gq) =.04 (d-q)—.02 (100,000 —d)

=—.04q + .06d — 2000
\ ¢,=.04

= .667® Zz =.43

17 2000

c,+c, .06

\ g = 6000+ (.43)(2000) =6860 ® invest 93140/mo.
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4 2
(400) =491.1

- (600224 (2.305)
€6 g

® sofety stock =391.1

L=1mo. va(L)=.8 sZ=

s 2 =Lva(D)+E(D)?var(L) = 1—12(400)2 +(600)(.8) = 301,333

s, =549
s 2, =s/+s?’=301333+13333 =314,666

S ., =561
S=100 + (2.395)(561) = 1443.5

SScost(part @) = (391.1)(10)
SScost(part b) = (1343.5)(10)



DSScost = (1343.5 — 391.1)(10) = $9523.78/yr.
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note: safety stock = 7S ., .
\ dncezislower here, not as much protection is offered.

©) NL(2) = =.003063® z=2.36




